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Daily Practice 13.9.2017

Q1. Find 60% of 89 5.q
07 of~ 34=8"
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0% of BmE—
Q2. Multiply out and Simplify 3(2y - 1) + 4Cy - 8)
{3@[ -3 LG ~32

loy -3 LI: Today we will be learning about congruent & similar shapes
Q3. Share £350 in the ratio 2:5
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Congruent Shapes

Two shapes are congruent if they are exactly the same shape and size.

One may be a rotation or translation of the other.

Similar Shapes Similar Shapes
Two shapes are similar if they are the same shape but one is an The scale factor is the multiplier for which the shape has been enlarged or

enlargement or reduction of the other. reduced in size.

All'sides will have been increased/reduced by the same scale factor for the
—_ shapes to be similar.

Similar shapes have equal corresponding angles and their
corkespondmg sides are in the same ratio.
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Similar Shapes

Examples: Similar Shapes

1. (i) Explain why the triangles below are similar

v 2. Calculate the length of g
Y B,
20° 20 30
G 18°
X Z 1420 18° 4 gm
Xoow sm 3
Angles a2 ecsual for bothh simPes,ﬂ\e‘z%m- trag ore m
Sinihar.
45m 60m
(i) Ca[cu[af_z the length of XZ o S{ . % Sf N % :-{i oc 113
S.r.:'Tor 15 z 9 IQ S[X& 6
X2-B 152 ¥z Bx3- 22 g s e
Similar Shapes
For each pair of similar shapes, find the missing lengths Daily Practice 14.9.2017
@ b) Q1. Multiply out and simplify 7(2x - 1) + 4x - 3
bz -7 o -2

2

= 12.5cm Bx-(© Cos2 P
4em I:] a 3““& 75cm ‘ Q2. Find the valueof p |, |2 p F(os?}’\o: 12
4cm ]

12cm ?; -g‘.%’aa = l}_;g%(ﬁo\?\

Q3. Write 67000 in scientific notation
d)

4
4 — . Q4. Round 7152.88 to 3 significant figures
.Scm 6cm .:?'160

IS
2. Find the missing lengths in these similar shapes QS- :I % "T%z} ~ {z;-o

o |

a)

kN
e el 22.75¢ 5

21cm

Similar Shapes

L.I: Today we are going to continue 2. Find the missing lengths in these similar shapes

working out missing sides in similar shapes. 8)
13c 5cm 22.75¢ }\: SX L35 S:}Sm
: h
? g
Sf=1as
B . P31
O 0\0\) Given that BC = 12cm and 3 2215 1FS < [ Qemn e
that angle ACB is 51° Find the b}
length of the diameter
A = 5{<q-5=1°3
A= C cos Sl X Jem i
059112 e \'&}(?:Q'BM
xe .19 [om 5cm
W o= (o5 =T

9cm
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Similar Shapes

Sometimes similar shapes can be within the same shape.

Example: Calculate the length of d

20cm

15cm 20 24
’ 4cm

dcm |
SF zo-=[;‘ d:(ﬁxty\ —
Daily Practice 15.9.2017
Q1. Round 89.778 to (i) 1 decimal place (ii) to 2 s.f.

328 —7‘;10

Q2. Solve the equation 3(x + 2) - 4(x - 5 15
Ax+b - d4xt 2
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September 22, 2017

3. By drawing both triangles separately, work out the missing lengths in these diagrams.

! &cm (CD
%ﬂ 6cm, q
12cm
J gem 6cm 10ci
[}
Si== & = s 12 1.6cm
k=10-5215=7F
By bxi3:1  je 4=
3em n
1.5¢
m 9cm
SF 3 3 Worksheet
3 é E’e
& 5 wmsla 3= ‘4 [
M n=l-5 KSJSSW

Today we will be continuing to practise scale
factor questions.
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2. The Select Shed Co. sell two different sizes of shed. The angle of slope of each
roof is the same.

(7

60 cm||
200 cm

3cm EI
X
24 cm
Calculate .

34.cm

3. The foot of window cleaner’s ladder is 2 metres from the base of a wall and rests

against a block of flats a further 5 metres away
0 To increase safety an extra pillar is
added to support the straight run of
] the slide. as shown opposite. 37m X
o .
Calculate x and hence find the height
(] of the extra pillar.
= 12m
= 5m 2m 0 5
T4m 21m
Calculate h. how far up the block of flats the ladder reaches.
s
In the diagram below: The diagram below shows the position of a slide as it is placed in a projector
and the resulting picture on a screen.
+ Tsis paraliel to QR Q The position of the slide AB is parallel to the screen CD.
c
+ TS=5 centimetres
]
« QR=7 centimetres T A L
+ SR=2-6 centimetres — 4cm|
g Bem
5cm
D
Calculate the height of the screen CD.
R
Lo S
xcm 2-6cm
- - >

The length of PS is x centimetres.

Calculate the value of x. 3
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Daily Practice 20.9.2017

Q1. Multiply out and simplify 7(2x - 3) + 2(x + 1) - 5x
14 -2\ +2X+2 ~Sx,

Ve —19
Q2. Solve the equation 0.5x + 3 = 24
O 5xz:2]
x=42
Q3. Calculate the mean, median & mode of 3, 2, -1, 5, 6
No mode  mgan = —'52=3 -1,2(%5.6
MACA\'“" =3
Q4. Find the value of s *
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Area Scale Factor

1. Two kitchen worktops are similar in shape.
The area of the smaller worktop is 6.8 m".

Calculate the area of the larger worktop.

. =g >
2.4 Y 12m 5 am
S C =12 " b3 2
2 ﬂ(m (WSU WOrUOP 2 b8% 2 2 2FAm
A 3§ =l =
2.
Two Christmas decorations are mathematically similar
vl i1 shape. ¢
The larger decoration has an area of 128 cm’ ) e
<
Calculate the area of the smaller decoration. A "Q\ e
i { é 10 em
S. =0 b

fren N
Asf . H2296 Syl dacoration = 128 = 256 -300m

September 22, 2017

L.I: Today we will be learning about area scale factor.

Area Scale Factor

Area scale Factor = (Length scale factor)?

Daily Practice 21.9.2017
Ql. Write the formula hy + k = 2x in terms of y
L‘j = 2% ~K
. 2 - K

Q2. Solve the equation 3x - 4 = 2(x - 7)

Ty ~Hz 2o -1

x M4

%= =10

Q3. State the size of the angle x
1%0°- (20 +48)
x=43°

Q4. 567.22,x 400 956122
SpRecxw00 : x Y

D
)

224
,1.3 —z—-zﬂg
Q5. “37%
ixq 23
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Today we will be learning how to calculate volume scale 5 .
factor. v
v
Oﬂ ’
Grovnrnnrnnnnnnap 3 Qrusesnusennsannnannnsnns >

10 20

=150 /- 1200
150 % 23 =

Volume Scale Factor From Teejay Book
Volume Scale Factor s
IS (‘ - 55 =8 1. These two tins of lime
A " juice are similar. 15em
Volume scale Factor = (Length scale factor)? vsf - Caleulate the volume
2 of the larger tin if *

Voluw. qujy Con (:Ll X 2 the volume of the 75 om

2 = 5|2 smaller one is 64 cm®. ¥

Two boxes of soap powder are similar.

When full, the small one weighs 160 grams
and the large one, 540 grams.

|
\

540
l Voof: Tpo =0315

l F Sf: 5 <19
If the large box is 30 centimetres in height, k_- % ’_ IS :Qg{n kﬁ \‘l' l){
. . T ;\]abox

what is the height of the small box 7 SMal

Daily Practice 22.9.2017

Today we will be completing a check-up on similar
20 Questions Mental Maths shapes,
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Topics to revise for test Unit 2 Level 4:

e Changing the subject of a formula.

Right-Angled Trigonometry including bearings.
e Angles in triangles & Circles.
e Proportion

o Similar Shapes.



